réf.1702812321

5 CMEO09 -

Fiche d’entrainement

Pas de calculatrice

| Compétence travaillée

| Difficulté | Socle commun | Nombre d’erreurs |

| Additionner ou soustraire un nombre se terminant par 9 | % | v | |
Calculer.

1)204+19=| | 2)20+39= | 3)47-29=[ | 4)26—19=[ |
5)37+49=| | 6)19+25=| | 7) 49434 =] | 8)39+24=| |
9)29+18 = | 10)37-29=| | |11)454+19=[ | [12)25—-19=| |
13)294+31=| | |14)14+439=] | |1539+18=| | |16)39+48=] |
17)34—19=] | |18)19432=[ | [19919+19=] | [20)20—19=[ |
21)39+13 =] | |22)49+11=| | |23)12+49=] | |24)47+39=| |
25)27+29=] | |26)33—-19=| | |27)41—-29=] | |28)27—-19=| |
29)49+17=| | [30)41+29=| | |[31)194+29=] | |32)42-19=] |
33)33—-29=| | [34)39+31=] | [35)39+17=[ | |36)41—-19=] |
37)40—19= | |38)29449=| | [39)15+29=[ | |40)48—19=| |
1) 20+ 19 =39 2) 20439 =[59] 3) 47 -29 =|18] 4)26—19=|7]
5) 37449 =[86| 6) 19425 =[44] 7) 49434 =83 8) 39 +24 =63
9) 294 18 = 47| 10) 37 —29 =8| 11) 45419 = |64 12)25—19—@
13) 29431 =[60] 14) 14439 =53] 5) 39+ 18 =[57] 16) 39 +48 =
7)34—19 =|15] 18) 19432 =|51] 19)19+19=[38] |20)20—19=
21)39+13=[52] | 22)49+11=[60] [23)12+49=[61] |24)47+39=
25) 27429 =56 26) 33— 19 =14 27) 41 —29 =|12] 28)27 19 =
20)49+17=[66] |30)414+29=[70] |31)19+29=[48] |32)42—-19=
33)33—-29 =4] 34)39+31=[70] |35)394+17=[56] |36)41—-19=
37) 40 — 19 =[21] 8) 29 +49 =[78] 9) 15429 =44] | 40)48—19=
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